
Scarcity exists because we have limited resources and unlimited wants. No society has ever had enough resources to produce all the goods and services its members wanted.

Because of scarcity, all decisions involve costs.

Opportunity cost is the forgone benefit of the next best alternative when resources are used for one purpose rather than another.

A production possibilities curve graphically illustrates scarcity, choices and opportunity costs.

The slope of a production possibilities curve shows the opportunity cost of producing one more unit of one good in terms of the amount of the other good that must be given up.

The law of comparative advantage shows how everyone can gain through trade by specializing in producing the good or service with the lowest opportunity cost.

In a market system, resources are allocated in response to relative prices.

A demand curve shows all the prices and quantities at which consumers are willing and able to purchase a good or service. The law of demand states that consumers will want to buy more at a lower price and less at a higher price.

There is a difference between a change in demand and a change in quantity demand​ed. A change in quantity demanded is a movement along the demand curve and can be caused only by a change in the price of the good or service. At a lower price, a larger quantity is demanded. A change in demand is a shift in the curve whereby more or less is demanded at every price. Changes in prefer​ences, incomes, expectations, population, or the prices of complementary or substitute goods will cause a change in demand.

A supply curve shows all the prices and quantities at

which producers are willing and able to sell a good or 
service. Producers want to sell more at a higher price and 
less at a lower price.

There is a difference between a change in supply and a change in quantity supplied. A change in quantity supplied is a movement along the supply curve and can be caused only by a change in the price of the good or service. At a lower price, a smaller quantity is supplied. A change in supply is a shift of the curve whereby more or less is supplied at every price. A change in technology, in pro​duction costs or in the number of sellers (firms) will cause a change in supply.

In competitive markets, supply and demand schedules 
are the sum of many individual decisions to sell and to 
buy. The interaction of supply and demand determines

the price and quantity that will clear the market. The 
price where the quantity supplied and quan​tity 

demanded are equal is called the equilib​rium or market-
clearing price.
Equilibrium prices and quantities are deter​mined as follows: 
At a price higher than equilibrium, there is a surplus and 
pressure on sellers to lower their prices. At a low price, there

is a shortage and pressure on buyers to offer higher prices.

In a market economy, prices provide informa​tion, allocate resources and act as rationing devices. It is important to know how to illus​trate situations with supply /demand .

Price elasticity of demand refers to how much the quantity demanded changes in relation to a given change in price. If the percentage change in quantity demanded is greater than the percentage change in price, the demand for the good is considered elastic. If the percentage change in quantity demanded is less than the percentage change in price, the demand for the good is considered inelastic. If the percentage change in price is equal to the percentage change in quantity demanded, the demand for the good is considered unit elastic.
1. The crucial problem of economics is

(A) establishing a fair tax system.

(B) providing social goods and services. 

(C) developing a price mechanism that reflects the relative scarcities of products and resources.

(D) allocating scarce productive resources to satisfy wants.

(E) enacting a set of laws that protects resources from overuse.
2. When one decision is made, the next best alter​native not selected is called

(A) economic resource.

(B) opportunity cost.

(C) scarcity.

(D) comparative disadvantage. 
(E) production.
3. Which of the following is true if the produc​tion possibilities curve is a curved line concave to the origin?
(A) Resources are perfectly substitutable between the production of the two goods.

(B) It is possible to produce more of both products.

(C) Both products are equally capable of satis​fying consumer wants. 

(D) The prices of the two products are the same.

(E) As more of one good is produced, more and more of the other good must be given up.
4. To be considered scarce, an economic resource must be which of the following?

1. Limited

II. Free

III. Desirable

(A) I only

(B) I and II only

(C) II and III only

(D) I and III only

(E) I, II and III
5. Which of the following problems do all economic systems face?

I. How to allocate scarce resources among unlimited wants

II. How to distribute income equally among all the citizens 

III. How to decentralize markets IV. How to decide what to produce, how to produce and for whom to produce

(A) I only

(B) I and IV only

(C) II and III only

(D) I, II and III only

(E) I, II, III and IV

6. In which way does a straight line production possibilities curve differ from a concave pro​duction possibilities curve?

(A) A straight line production possibilities curve has a decreasing opportunity cost.

(B) A straight line production possibilities curve has a constant opportunity cost.

(C) A straight line production possibilities curve has an increasing opportunity cost.

(D) A straight line production possibilities curve does not show opportunity cost.

(E) There is no difference between the two production possibilities curves.

7. The law of increasing opportunity cost is reflected in the shape of the

(A) production possibilities curve concave to the origin.

(B) production possibilities curve convex to the origin.

(C) horizontal production possibilities curve. 

(D) straight-line production possibilities curve. 

(E) upward-sloping production possibilities curve.
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8. If the country is currently producing at Point C, it can produce more computers by doing which of the following?

(A) Moving to Point A 

(B) Moving to Point B 

(C) Moving to Point D 

(D) Moving to Point E

(E) Remaining at C, since computer pro​duction is maximized

9. Which of the following statements about the production possibilities curve is true?

(A) Point A is not attainable in a developed


society.

(B) Point D is not attainable given the society's


resources.

(C) The relative position of Points C and D reflect production alternatives rather than relative prices.

(D) Elimination of unemployment will move the production possibilities curve to the right, closer to Point 

(E) Point E lies outside the production possi​bilities curve because it represents a combi​nation of resources not desired by the citi​zens of the country

10. How might Point E be attained?


(A) If the country's resources were more fully


employed


(B) If the country's resources were shifted to


encourage more efficient use of scarce


resources


(C) If improvements in technology occurred in


either the computer sector or the farm​


products sector


(D) If firms decreased their output of computers


(E) If the nation used more of its scarce


resources to produce farm products

11. Which of the following points would most likely lead to a rightward shift of the produc​tion possibilities curve over time?

(A) Point A 

(B) Point B 

(C) Point C 

(D) Point D 

(E) Point E

12. Which of the following would cause a leftward shift of the production possibilities curve? (A) An increase in unemployment

(B) An increase in inflation

(C) An increase in capital equipment

(D) A decrease in consumer demand

(E) A decrease in working-age population

13. Which of the following would cause an outward or rightward shift in the production possibilities curve?

(A) An increase in unemployment

(B) An increase in inflation

(C) An increase in capital equipment

(D) A decrease in natural resources

(E) A decrease in the number of workers

14. In Mars, the opportunity cost of obtaining the first two units of food is how many units of clothing?

(A) 2 

(B) 3

(C) 6

(D) 8

(E) 12

15. In Venus, the opportunity cost of the first unit of 

(A) food is two units of clothing.

(B) food is eight units of clothing.

(C) clothing is two units of food.

(D) clothing is four units of food.

(E) clothing is eight units of food.

16. Which of the following statements is correct based on the concept of comparative advantage?

(A) Mars and Venus should continue producing the quantities indicated by the asterisks. 

(B) Mars should specialize in the production of


food.

(C) Mars should specialize in the production of


clothing.

(D) Venus has the comparative advantage in


clothing.

(E) Mars has an absolute advantage in the pro​


duction of food.

17. If there is an increase in demand for a good, what will most likely happen to the price and quantity of the good exchanged?

Price Quantity

	(A) Increase
	Increase

	(B) Increase
	Decrease

	(C) Decrease
	Decrease

	(D) Decrease
	Increase

	(E) No change
	No change


18. An increase in the price of peanut butter will cause the demand curve for jelly to shift in which of the following directions?

(A) To the right, because peanut butter is a prod​uct that the government says is good for you


(B) To the right, if jelly is purchased by people


with lower incomes and peanut butter is a


luxury good for them

(C) To the right, if peanut butter and jelly are


complementary goods

(D) To the left, if peanut butter and jelly are


complementary goods

(E) To the left, if peanut butter and jelly are


substitute goods

19. All of the following might reasonably be ex​pected to shift the demand curve for beef to a new position except

(A) a decrease in the price of beef.

(B) a change in people's tastes with respect to


beef.

(C) an increase in the money incomes of beef


consumers.

(D) a widespread advertising campaign by the producers of a product competitive with beef, such as pork.

(E) expectations that beef prices will fall in the


future.

20. "If you want to have anything done correctly, you have to do it yourself." This quote violates the principle of which of the following economic concepts?

(A) Scarcity

(B) Supply

(C) Comparative advantage

(D) Diminishing returns

(E) Demand
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Macroeconomics is the study of the econo​my as a whole; microeconomics is the study of individual parts of the economy such as businesses, households and prices. Macro​economics looks at the forest; microeco​nomics looks at the trees.

A circular flow diagram illustrates the major flows of goods and services, resources and income in an economy. It shows how changes in these flows can alter the level of goods and services, employment and income.

Gross domestic product (GDP) is the mar​ket value of all final goods and services pro​duced in a nation in one year. It is the most important measurement of production and output.

GDP counts only final goods and services; it does not count intermediate goods and services.

GDP also does not count secondhand goods; the buying and selling of stocks and bonds; and transfer payments such as Social Securi​ty benefits, unemployment compensation and certain interest payments.

GDP includes profits earned by foreign​-owned businesses and income earned by for​eigners in the United States, but it excludes profits earned by U.S.-owned companies overseas and income earned by U.S. citizens who work abroad.

GDP may be calculated in two ways:

1. Add all the consumption, investment and government

expenditures plus net exports or

2. Add all the incomes received by owners of productive resources in the economy.

Price indexes measure price changes in the economy. They are used to compare the prices of a given bundle or market basket of goods and services in one year with the prices of the same bundle or market basket in another year.

A price index has a base year, and the price level in that year is given an index number of 100. The price level in all other years is expressed in relation to the price level in the base year.

The most frequently used price indexes are the GDP price deflator, the consumer price index (CPI) and the producer price index (PPI).

Real GDP is adjusted for price changes; nominal GDP is not adjusted for price changes.

Inflation is a general increase in the overall price level.

Savers, lenders and people on fixed incomes generally are hurt by unanticipated infla​tion; borrowers gain.

Unemployment occurs when people who are willing and able to work cannot find jobs at satisfactory wage rates.

Unemployment is classified into three cate​gories: frictional, cyclical and structural.

The unemployment rate represents people who are not working but who are actively looking for a job.

Full employment is not defined as zero unemployment because frictional and struc​tural unemployment exist even with zero cyclical unemployment.

The unemployment rate at full employment is called the natural rate of unemployment.

The labor force is defined as people who have a job (employed) and people who are actively looking for a job (unemployed). The labor force participation rate is the percent​age over the age of 16 that is in the labor force.

A business cycle describes the ups and downs of economic activity over a period of years.

The phases of the business cycle are expan​sion (recovery), peak, contraction (recession) and trough.

1. In the circular flow diagram, which of the fol​lowing is true in resource or factor markets? 

(A) Households buy resources from business firms.

(B) Households sell products to business firms. 

(C) Households sell resources to business firms. 

(D) Business firms sell goods and services to households.

(E) Business firms sell resources to households.

2. The market value of all final goods and services produced in the economy in a given year is (A) net national product.

(B) national income.

(C) personal income.

(D) gross domestic product.

(E) producer price index.

3. Which of the following people would be consid​ered unemployed?

(A) A person who quits work to care for aging


parents

(B) A person who stayed home to raise his 

chil​dren and now starts looking for a job

(C) A person who quits a job to return to school


full time

(D) A person who is qualified to teach but is


driving a bus until a teaching job is available

(E) A person who works two part-time jobs but


is looking for a full-time job

4. Which of the following purchases is included in the calculation of gross domestic product? 

(A) A used economics textbook from the bookstore

(B) New harvesting equipment for the farm 

(C) 1,000 shares of stock in a computer firm 

(D) A car produced in a foreign country 

(E) Government bonds issued by a foreign firm

5. Which of the following would be included in the calculation of gross domestic product? 

(A) Government purchase of a new submarine 

(B) Social Security payment to a retired mili​tary officer

(C) The purchase of a home built 10 years ago 

(D) Contributions to a charity organization 

(E) Work performed by a barber who cuts the hair of his or her own children

6. Which of the following would be counted as investment when calculating gross domestic product?

(A) The purchase of a used computer by an auto manufacturer

(B) The purchase of a share of IBM stock by an employee 

(C) The construction of a new house 

(D) The construction of roads by the govern​ment

(E) The profit earned when selling shares of stock

7. Which of the following would be an example of an intermediate good or service?

(A) A calculator purchased by a college student for taking exams

(B) Gasoline purchased by an insurance agent to visit clients at their homes

(C) A house purchased by a family with four children

(D) A car purchased by a student's parents and given to the student

(E) Tuition paid by a student at a state univer​sity
8. Of the following, which is the best example of structural unemployment?

(A) A computer programmer who quits her


job to move to a warmer climate

(B) A construction worker who loses his job in


the winter

(C) An auto worker who loses her job during a


Recession

(D) A steel worker who is replaced by a robot

(E) A toy maker who worked for a company that closed 
because consumers did not buy its toys

9. If the price index in a country were 100 for the year 2000 and 120 for 2003 and nominal gross domestic product in 2003 were $480 billion, then real gross domestic product for 2003 
in 2000 dollars would be

(A) about $360 billion. 

(B) about $380 billion. 

(C) about $400 Dillion. 

(D) about $600 billion.

(E) indeterminate with the given information.

10. The CPI tends to overstate true changes in the cost of living for which of the following reasons?


I.
The index does not account for a change in quality.

II. Consumers change purchase patterns as prices change.

III. The CPI includes only domestically pro​duced goods.

IV. Consumers often buy at discount rather

than retail.

(A) I only

(B) I and II only

(C) I, II and III only

(D) I, II and IV only

(E) I, II, III and IV

11. Which of the following is true if real GDP in Year 1 is $5,000 and in Year 2 is $5,200?

(A) Output has increased by 4 percent.

(B) Output has declined by 4 percent.

(C) Output change is uncertain.

(D) The economy is experiencing 4 percent inflation.

(E) The economy is experiencing a recession.

12. When the actual inflation rate is greater than the anticipated inflation rate, which of the fol​lowing is most likely to suffer?

(A) Those who lend at a fixed interest rate 

(B) Those who borrow at a fixed interest rate 

(C) Retired persons with cost-of-living adjust​ment in their benefits

(D) Employers who hire workers with long​ term labor contracts

(E) Those who lend with flexible interest rates
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The Keynesian aggregate expenditure model is a simple model of the economy and shows the multiplied effect that changes in govern​ment spending, taxes and investment can have on the economy.

The marginal propensity to consume (MPC) is the additional consumption spending from an additional dollar of income. The marginal propensity to save (MPS) is the additional savings from an additional dollar of income.

The marginal propensity to consume and the marginal propensity to save are related by MPC + MPS = 1. In the simple model, an additional dollar of income will either be consumed or saved.

The formula for calculat​ing the multiplier is…

The multiplier effects result from subse​quent rounds of induced spending that occur when autonomous spending changes.

Investment and its response to changes in the interest rate are important in under​standing the relationship between monetary policy and GDP.

Aggregate demand (AD) and aggregate sup​ply (AS) curves look and operate much like the supply and demand curves used in microeconomics. However, these macroeco​nomic AD and AS curves depict different concepts, and they change for different rea​sons than do micro economic demand and supply curves. AD and AS curves can be used to illustrate changes in real output and the price level of an economy.

The downward sloping aggregate demand curve is explained by the interest rate effect, the wealth effect and the net export effect. The wealth effect is also called the real​ balance effect.

The aggregate supply curve can be divided into three ranges: the horizontal range, the upward sloping or intermediate range, and the vertical range.

Shifts in aggregate demand can change the level of output, the price level or both. The determinants of aggregate demand include consumer spending, investment spending, government spending, net export spending and money supply.

Shifts in aggregate supply can also change the level of output and the price level. The determinants of AS include changes in input prices, productivity, the legal institutional environment and the quantity of available resources.

In the short run, economists think that equi​librium levels of GDP can occur at less than, greater than or at the full-employment level of GDP. Economists believe that long-run equi​librium can occur only at full employment.

In a dynamic aggregate demand and aggre​gate supply model of the economy, changes in wages and prices over time induce the econo​my to move to the long-run equilibrium.

Fiscal policy consists of government actions that may increase or decrease aggregate demand. These actions involve changes in government expenditures and taxation.

The government uses an expansionary fiscal policy to try to increase aggregate demand during a recession. The government may decrease taxes, increase spending or do a combination of the two.

The government uses a contractionary fiscal policy to try to decrease aggregate demand when the economy is overheating. The gov​ernment may increase taxes, decrease spend​ing or do a combination of the two.

A change in output can also be illustrated by the Keynesian aggregate expenditure model. This model differs from the AD and AS model because in the Keynesian model the price level is assumed to be constant.

The AD and AS model can be reconciled with the Keynesian expenditure model. In the horizontal range of the AS curve, both models are identical. The models differ in the intermediate and vertical ranges of the AS curve.

Autonomous spending is that part of AD that is independent of the current rate of economic activity.

Induced spending is that part of AD that depends on the current level of economic activity.

Discretionary fiscal policy means the federal government must take action or pass a new law changing taxes or spending. 

The automatic or built-in stabilizers change government spending or taxes without new laws being passed or deliberate action being taken.

Stagflation, when the economy simultane​ously experiences inflation and unemploy​ment, can be explained by a decrease in aggregate supply.

1. Which of the following best describes aggregate supply?

(A) The amount buyers plan to spend on output
(B) A schedule showing the relationship between inputs and outputs

(C) A schedule showing the trade-off between inflation and unemployment

(D) A schedule indicating the level of real out​put that will be purchased at each possible price level

(E) A schedule indicating the level of real out​ put that will be produced at each possible price level

2. A change in which of the following will cause the aggregate demand curve to shift?

(A) Energy prices

(B) Productivity rates

(C) Consumer wealth

(D) Prices of inputs

(E) Prices of consumer goods

3. A rightward shift in the aggregate demand curve with a horizontal aggregate supply curve will cause employment and the price level to change in which of the following ways?

Employment Price Level


(A) Increase
Increase


(B) Increase
Decrease


(C) Increase
No change


(D) Decrease
No change


(E) No change
No change

4. Which of the following is a fiscal policy that would increase aggregate demand in the Keyne​sian model?

(A) A decrease in personal income taxes

(B) A decrease in government spending

(C) An increase in corporate income taxes 

(D) A purchase of government bonds by the Fed

(E) A sale of government bonds by the Federal Reserve

5. If Maria Escalera's disposable income increases from $600 to $650 and her level of personal​ consumption expenditures increase from $480 to $520, you may conclude that her marginal propensity to

(A) consume is 0.8.

(B) consume is 0.4.

(C) consume is 0.25.

(D) save is 0.8.

(E) save is 0.25.

6. In the Keynesian aggregate-expenditure model, if the MPC is 0.75 and gross investment increases by $6 billion, equilibrium GDP will increase by 

(A) $6 billion.

(B) $8 billion.

(C) $12 billion. 

(D) $24 billion. 

(E) $42 billion.

7. In the Keynesian aggregate-expenditure model, the simple spending multiplier can be calculat​ed by dividing

(A) the initial change in spending by the change in real gross domestic product (GDP).

(B) the change in real gross domestic product by the initial change in spending.

(C) one by one minus the marginal propensity to save.

(D) one by one plus the marginal propensity to consume.

(E) the propensity to save by the propensity to consume.

8. Which of the following will cause the consumption schedule to shift upward?

(A) An increase in the amount of consumer indebtedness

(B) A reduction in the wealth or assets held by Consumers

(C) An expectation of future declines in the CPI
(D) An expectation of future shortages of consumer goods

(E) A belief that personal income will decline in the future

9. The investment demand curve will shift to the right as the result of

(A) excess productive capacity.

(B  an increase in corporate business taxes. 

(C) businesses becoming more optimistic with respect future business conditions.

(D) recessions in foreign nations that trade with the United States, causing a lower demand for U.S. products.

(E) a decrease in the real interest rate.

10. Automatic stabilizers in the economy include which of the following?

I. A progressive personal income tax

II. Unemployment compensation

III. Congressional action th"at increases tax

rates

(A) I only

(B) II only

(C) III only

(D) I and II only 

(E) I and III only

11. In which of the following ways will increases in short-run aggregate supply change the price level and unemployment?

Price Level Unemployment


(A) Increase
No change


(B) Decrease
Decrease


(C) Decrease
Increase


(D) Decrease
No change

(E) No change Increase
12. Assume the aggregate supply curve is upward sloping and the economy is in a recession. If the government increases both taxes and gov​ernment spending by $25 billion, the price level and real GDP will most likely change in which of the following ways?


Price Level
Real GDP


(A) Increase
Increase


(B) Increase
Decrease


(C) Increase
No Change


(D) Decrease
Decrease


(E) Decrease
No Change












13. Which of the following are true statements about total income?

I. Equilibrium total income is $800 billion. II. Planned investment is $50 billion.

III. Equilibrium aggregate expenditure is $600

billion.

(A) I only

(B) II only

(C) III only

(D) I and III only

(E) II and III only

14. In the graph, if full-employment GDP is $800 billion, the minimum increase in autonomous expenditures that would be required to move total income to full employment income is 

(A) $200 billion.

(B) $100 billion.

(C) $50 billion.

(D) $25 billion.

(E) zero because total income is already at full 

employment.

15. In the graph, the values of the MPC, MPS and


simple-expenditure multiplier are

MPC MPS Multiplier


(A) 0.5
0.5
2.0


(B) 0.6

0.4
2.5


(C) 0.75
0.25
4.0


(D) 0.8
0.2
5.0


(E) 0.9
0.1
10.0

16. If the primary goal is to reduce inflation, which of the following fiscal policy actions would be appropriate during a period of a rap​idly increasing consumer price index?

I. Reduce government expenditures for defense.

II. Increase transfer payments to those most severely affected by the rising price index. 
III. Increase personal income tax rates.

(A) I only

(B) II only

(C) III only

(D) I and III only

(E) II and III only

17. A decrease in lump-sum personal income taxes will most likely result in an increase in real GDP because which of the following occurs?


I.
Government spending decreases to main​tain a balanced budget.

II. Consumption spending increases because disposable personal income increases.

III. Investment spending decreases because disposable personal income increases. 

(A) I only

(B) II only

(C) III only

(D) I and III only

(E) I, II and III

18. If the marginal propensity to consume is two ​thirds, then an increase in personal income taxes of $100 will most likely result in

(A) a decrease in consumption of $100.

(B) a decrease in autonomous investment of$100.

(C) a decrease in consumption of $67 and an increase in savings of $33.

(D) a decrease in consumption of $67 and a decrease in savings of $33.

(E) an increase in government spending of more than $100.

19. An increase in personal income taxes will most likely result in which of the following changes in real GDP and the price level in the short​run?

	Real GDP
	Price Level

	(A) Decrease
	Decrease

	(B) Decrease
	Increase

	(C) Increase
	No change

	(D) Increase
	Increase

	(E) Increase
	No change


20. One of the reasons the aggregate demand curve is downward sloping is that as the value of cash balances decreases, aggregate spending decreases. This is called

(A) a positive externality.

(B) a negative spillover.

(C) the Pareto effect.

(D) the substitution effect.

(E) the real-balance effect.

21. If there is a decrease in the short-run aggregate supply curve and no changes in monetary and fiscal policies are implemented, the economy over time will

(A) remain at the new price and output level.

(B) continue to have rising prices and decreas​ing real GDP.

(C) experience increasing nominal wages. 

(D) return to the original output and price level.

(E) experience a leftward shift in the aggregate


demand curve.
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Throughout history, there have been four basic types of money: commodity money, representative money, fiat money and check​book money.

Money has three main functions: a medium of exchange, a standard of value (or unit of account) and a store of value.

To accomplish its functions, the characteris​tics of money include portability, uniform​ity, acceptability, durability, divisibility and stability in value.

Ml is the narrowest definition of money and consists of checkable deposits, traveler's checks and currency. Checkable deposits include demand deposits and account for about 75 percent of Ml.

M2 and M3 are broader definitions of money and include savings accounts and other time deposits.

The demand for money is the sum of trans​actions demand, precautionary demand and speculative demand. The demand for money is determined by interest rates, income and the price level.

MV = PQ is the equation of exchange: Money times velocity equals price times quantity of goods. PQ is the nominal GDP.

Velocity is the number of times a year that the money supply is used to make payments for final goods and services.

Money is created when banks make loans. One bank's loan becomes another bank's demand deposit. Demand deposits are money. When a loan is repaid, money is destroyed.

Banks are required to keep a percentage of their deposits as reserves. Reserves can be currency in the bank vault or deposits at the Federal Reserve Banks. This reserve require​ment limits the amount of money banks can create.

The simple deposit expansion multiplier is equal to 1 divided by the required reserve ratio (rr).

The higher the reserve requirement, the less money can be created; the lower the reserve requirement, the more money can be created.

The Federal Reserve regulates financial insti​tutions and controls the nation's money sup​ply. The three main tools that the Fed uses to control the money supply are buying and selling government bonds on the open mar​ket (open market operations), changing the discount rate and changing the reserve requirement.

If the Fed wants to encourage bank lending and increase the money supply, it will buy bonds on the open market, decrease the dis​count rate or decrease the reserve require​ment. This is referred to as expansionary monetary policy or an easy money policy and is used by the Fed to reduce unemployment.

If the Fed wants to hold down or decrease the money supply, it will discourage bank lending by selling bonds on the open mar​ket, increasing the discount rate or increas​ing the reserve requirement. This is called a contractionary monetary policy or a tight money policy and is used by the Fed to dis​courage bank lending during periods of inflation.

Open market operations are the most fre​quently used tool because they permit the Fed to make small changes in the money supply and can be implemented immediately.

Changes in the reserve requirement can have substantial economic effects, and thus the Fed rarely changes the reserve requirement. The Fed uses changes in the discount rate primarily as a signal of a change in the direc​tion of monetary policy.

The Fed cannot target both the money sup​ply and interest rates simultaneously, so it must choose which variable to target.

The Fed currently targets the federal funds rate rather than the money supply to imple​ment monetary policy. It targets the federal funds rate because the Fed believes that this rate is closely tied to economic activity.

The federal funds rate is the interest rate a bank charges when it lends excess reserves to other banks.

1. If the legal reserve requirement is 25 percent, the value of the simple deposit expansion multiplier is


(A) 2.
(B))4.
(C) 5.


(D) 10.
(E) 1.0.

2. When money is used as a standard of value, a person is

(A) earning more money than before.

(B) purchasing a necessity.

(C) making a financial transaction.

(D) making price comparisons among products.

(E) writing a check for groceries.

3. Which of the following are true statements about the federal funds rate?

I. It is the same thing as the discount rate. 
II. It is the interest rate that banks charge each other for short-term loans.

III. It is influenced by open market operations. (A) I only

(B) II only

(C) III only

(D) I and II only

(E) II and III only

4. Suppose the Federal Reserve buys $400,000 worth of securities from the securities dealers on the open market. If the reserve requirement is 20 percent and the banks hold no excess reserves, what will happen to the total money supply? 

(A) It will be unchanged.

(B) It will contract by $2,000,000.

(C) It will contract by $800,000.

(D) It will expand by $2,000,000.

(E) It will expand by $800,000.

5. Which of the following does the Federal Reserve use most often to combat a recession? 
     (A) Selling securities

(B) Buying securities

(C) Reducing the reserve requirement

(D) Increasing the discount rate

(E) Increasing the federal funds rate

6. To reduce inflation, the Federal Reserve could

(A) expand the money supply in order to raise interest rates, which increases investment.

(B) expand the money supply in order to lower interest rates, which increases investment.

(C) contract the money supply in order to lower interest rates, which increases investment.

(D) contract the money supply in order to raise interest rates, which decreases investment.

(E) buy bonds and decrease the discount rate to encourage borrowing.

7. Reserves, the money supply and interest rates are most likely to change in which of the follow​ing ways when the Federal Reserve sells bonds?

Reserves              Money Supply  Interest Rates

	(A) Increase
	Increase
	Increase

	(B) Increase
	Increase
	Decrease

	(C) Decrease
	Increase
	Decrease

	(D) Decrease
	Decrease
	Increase

	(E) Decrease
	Decrease
	Decrease


8. Which of the following is most likely to increase the velocity of money?

(A) Higher frequency of paychecks 

(B) Decrease in the price level

(C) Decrease in interest rates

(D) Decrease in personal income

(E) Increase in the unemployment rate

9. The real interest rate is simply stated as the 

(A) price of borrowed money in the future. 

(B) inflation rate minus the CPI.

(C) nominal interest rate over time.

(D) nominal interest rate minus the expected


inflation rate.

(E) nominal interest rate plus the expected


inflation rate.

10. Expansionary monetary policy results in which of the following in the short run?

I. The money supply increases.

II. The nominal interest rate decreases.

III. The real interest rate decreases.

IV. Bond prices decrease.

(A) I and II only

(B) I, II and III only

(C) I, II and IV only

(D) III and IV only

(E) IV only

END OF UNIT FOUR





Macroeconomic policy involves combina​tions of fiscal and monetary policies.

The inside lag is the amount of time it takes policy makers to recognize the economic sit​uation and take action. The outside or impact lag is the amount of time it takes the economy to respond to the policy changes. The inside lag is long for fiscal policy and short for monetary policy. The outside lag is very short for fiscal policy and variable for monetary policy.

Crowding-out is the effect on investment and consumption spending of an increase in interest rates caused by increased borrowing by the federal government. The higher inter​est rates crowd out business and consumer borrowing.

A Phillips curve illustrates the trade-off between inflation and unemployment. The trade-off differs in the short and long run, varies at different times and is often differ​ent for increases and decreases in output.

The short-run Phillips curve shows a trade​off between the inflation rate and the unem​ployment rate.

The long-run Phillips curve is vertical.

Both monetary and fiscal policies are pri​marily aggregate demand policies, but not all of the macroeconomic problems in the economy are aggregate demand problems.

Economic growth is concerned with increas​ing an economy's total productive capacity at full employment or its natural rate of out​put. This output is represented by a vertical long-run aggregate supply curve.

Economic growth can be shown graphically as a rightward shift of a nation's long-run aggregate supply curve or a rightward shift of its production possibilities curve.

Short-run economic growth is usually meas​ured by changes in real gross domestic prod​uct or by changes in real GDP per capita.

The rate of economic growth is affected by a variety of aggregate supply and aggregate demand factors.

Different economic theories are only one reason why economists disagree. Other rea​sons are different assumptions, different val​ues, different interpretations about economic history and different ideas about policy lags.
If factors other than excess aggregate demand are contributing to inflation, it is difficult for monetary policy to control inflation.

The Barro- Ricardo effect is the possibility that government deficits will lead to an increase in private savings and a decrease in consumption, thus offsetting the effects of expansionary fiscal policy.

1. Which of the following monetary and fiscal pol​icy combinations would definitely cause a decrease in aggregate demand in the short run?

Discount Government Open Market


Rate
Spending
Operations


(A) Decrease
Decrease
Buy bonds


(B) Decrease
Increase
Buy bonds


(C) Decrease
Increase
Sell bonds


(D) Increase
Decrease
Sell bonds


(E) Increase
Decrease
Buy bonds

2. To counter the crowding-out effect on interest rates caused by the government's deficit spend​ing, the Federal Reserve can

(A) cut tax rates.

(B) increase tax rates.

(C) increase the discount rate.

(D) increase the reserve requirement.

(E) buy bonds through open market

operations.

3. Which of the following would best portray long-run economic growth?

     (A) A leftward shift of the aggregate demand curve

     (B) A rightward shift of the aggregate demand curve

     (C) A leftward shift of the production possibili​ties curve

     (D) A leftward shift of the long-run aggregate supply curve

     (E) A rightward shift of the long-run aggregate supply 
curve

4. An increase in which of the following would be most likely to increase long-run economic growth?

(A) Taxes

(B) Interest rates

(C) Consumer spending

(D) Productivity

(E) Value of domestic currency

5. An expansionary fiscal policy will result in an increase in the interest rate unless which of the following occurs?

(A) Taxes are cut instead of government expen​ditures being increased.

(B) The money supply is increased.

(C) Wage and price controls are imposed.

(D) The exchange rate is fixed.

(E) The Federal Reserve sells government bonds.

6. If the government increases spending without a tax increase and simultaneously no monetary​ policy changes are made, which of the following would most likely occur?

(A) Income would not rise at all because no new money is 
available for increased con​sumer spending.

(B) The rise in income may be greater than the multiplier would predict because the higher interest rates will stimulate investment spending.

(C) The rise in income may be smaller than the multiplier 
would predict because the higher interest rates will crowd-out private invest​ment spending.

(D) Income will go up by exactly the amount of the new 
government spending since this acts as a direct injection to the income stream.

(E) Income will not go up unless taxes are cut as well.

7. When the unemployment rate is 10 percent and the CPI is rising at 2 percent, the federal government cuts taxes and increases govern​ment spending. If the Federal Reserve buys bonds on the open market, interest rates, investment, real gross domestic product (GDP) and the price level are most likely to change in which of the following ways?

Investment    Interest Rates   Real GDP  Price Level

	(A) Decrease Decrease
	Increase
	Increase

	(B) Decrease Increase
	Increase
	Increase

	(C) Increase
	Decrease
	Decrease
	Decrease

	(D) Increase
	Decrease
	Increase
	Increase

	(E) Increase
	Increase
	Increase
	Increase


8. When the unemployment rate is 4.5 percent and the CPI is rising at a 12 percent rate, the federal government raises taxes and cuts gov​ernment spending. If the Federal Reserve sells bonds on the open market, interest rates, in​vestment, real gross domestic product (GDP) and the price level are most likely to change in which of the following ways?

Investment    Interest Rates   Real GDP  Price Level

	(A) Decrease Decrease
	Increase
	Increase

	(B) Increase
	Decrease
	Increase
	Increase

	(C) Increase
	Decrease
	Decrease
	Decrease

	(D) Decrease Increase
	Increase
	Increase

	(E) Decrease Decrease
	Increase
	Increase


9. The statement that "the cost of reducing the rate of inflation is that people must lose their jobs" indicates that the speaker believes in a relationship that is usually depicted by which of the following?

(A) The short-run Phillips curve

(B) The liquidity trap

(C) The production function

(D) The quantity theory of money

(E) The spending multiplier

10. The theory of rational expectations implies which of the following?

(A) Unemployment and inflation are directly related.

(B) An increase in the money supply will have no effect on price level.

(C) Attempts to decrease unemployment below the natural rate lead to depression.


(D) Attempts to decrease unemployment through government policy will be thwarted by people's reactions.

(E) Government policies work only if the money supply increases by 10 percent.

11. The Phillips curve shows the relationship between

(A) unemployment and economic growth. 

(B) unemployment and full employment. 

(C) inflation and unemployment.

(D) inflation and investment.

(E) inflation and real interest rates.

12. Which of the following explains why inflation can increase?

I. Increase in aggregate demand

II. Decrease in aggregate supply

III. Increase in rate of money supply growth 

(A) I only

(B) II only

(C) III only

(D) I and II only

(E) I, II and III
END OF UNIT FIVE





People and nations trade to improve their standard of living.

Because trade is the voluntary exchange of goods and services, the decision to trade will occur only if both parties to the exchange expect to gain from it.

Voluntary trade promotes economic progress because it allows people and nations to specialize in what they do best.

The law of comparative advantage explains why there are mutual gains from specializa​tion and trade. Through specialization and trade, nations are able to get beyond, or out​side of, their production possibilities curve.

A nation has an absolute advantage over another nation in the production of a good when it can produce more of that good using the same amount of resources.

Comparative advantage occurs when a nation can produce a good at a lower oppor​tunity cost than another nation. Relative costs determine comparative advantage.

Every nation has a comparative advantage in some good or service.

Trade barriers such as tariffs and quotas limit the potential gains from trade. These bar​riers generally protect domestic sellers at the expense of domestic buyers. Trade barriers reduce efficiency in the allocation of scarce resources and slow economic progress.

The balance of payments is a broader meas​ure of international transactions than the balance of trade. The balance of trade con​siders only a nation's exports and imports of goods, while the balance of payments considers all international economic trans​actions including the current account, the capital account and official reserves.

There are three accounts within the balance of payments. The current account records a nation's exports and imports of goods, ser​vices, net investment income and net trans​fers. The capital account records the flows of money from the purchase and sale of real and financial assets domestically and abroad. The official transactions account is an offset​ting account for government controls.

For the current and capital accounts, if for​eign currency is used to complete the inter​national transaction, the transaction is a debit (negative). If the transaction earns for​eign currency, it is a credit (positive).

To trade, nations must exchange currencies. An exchange rate is the price of one curren​cy in terms of another and is generally set by supply and demand.

Appreciation is an increase in the value of a nation's currency in foreign-exchange markets. Appreciation of a nation's cur​rency tends to reduce exports and increase imports.

Depreciation is a decrease in the value of a nation's currency in foreign-exchange markets. Depreciation of a nation's cur​rency tends to increase exports and reduce imports.

Monetary and fiscal policies can affect exchange rates, the international balance of trade and the balance of payments.

Domestic economic policies affect inter​national trade, and international trade affects the domestic economy, influencing economic growth, unemployment and the rate of inflation.

1. When does the law of comparative advantage indicate that mutually beneficial international trade can take place?

(A) When tariffs are eliminated

(B) When relative costs of production differ between nations

(C) When transportation costs are almost zero 

(D) When a country can produce a product in less time than another country can

(E) When a country can produce more of some product than other nations can

2. Which of the following transactions represents a deficit in the current account of the u.s. balance of payments?

(A) The Moscow Capital Investment Corpora​tion makes a loan to a u.s. firm.

(B) A U.S. subsidiary exports raw materials to its French parent company.

(C) U.s. firms and individuals receive dividends on u.s. investments in Latin America.

(D) U.S. tourists in Great Britain purchase pounds sterling.

(E) Foreigners purchase u.s. securities.

3. An increase in U.S. interest rates relative to the rest of the world can be expected to

(A) encourage investment spending by u.s. firms in the United States.

(B) decrease the capital flow into the United States.

(C) cause a net outflow of foreign capital from the United States. 

(D) increase the international value of the dollar. 

(E) improve the situation for exporters.

4. Assume a contractionary monetary policy causes interest rates in the United States to increase rel​ative to Japan. In the short run, the value of the U.S. dollar, the value of the Japanese yen and the U.S. balance of trade will most likely change in which of the following ways?

	Dollar
	Yen
	US Balance of Trade

	(A) Appreciate
	Appreciate
	Move toward deficit

	(B) Appreciate
	Depreciate
	Move toward deficit

	(C) Appreciate
	Depreciate
	Move toward surplus

	(D) Depreciate
	Depreciate
	Move toward surplus

	(E) No change
	Appreciate
	Move toward deficit


5. If a nation's currency appreciates, in the short run its net exports and aggregate demand are most likely to change in which of the following ways?

Net Exports          Aggregate Demand


(A) Decrease
Decrease


(B) Decrease
Increase


(C) Increase
Decrease


(D) Increase
Increase


(E) No change
Decrease

6. If exchange rates are allowed to fluctuate freely and the U.S. demand for Japanese yen increases, which of the following will happen?

(A) The U.S. trade deficit will worsen in the long run.

(B) Americans will have to pay more for Japa​nese goods.

(C) It will be more expensive for the Japanese to buy American real estate. 

(D) The dollar will appreciate. 

(E) More Americans will want to travel to Japan.

The table below shows the amount of cotton and corn per acre that can be produced in each country with one unit of resources.

	
	Corn
	Cotton

	Egypt
	400 bushels
	500 bushels

	Venezuela
	300 bushels
	200 bushels


7. In the absence of international trade, the opportunity cost of producing one bushel of cotton in Egypt is

(A) 0.8 bushel of corn.

(B) 1 bushel of corn.

(C) 1.25 bushels of corn.

(D) 400 bushels of corn.

(E) Impossible to determine from the infor​mation given.
8. If Egypt and Venezuela begin to engage in bilateral trade, then

(A) Egypt will export corn and import cotton. 

(B) Egypt will import both corn and cotton. 

(C) Egypt will export both corn and cotton. 

(D) Egypt will import corn and export cotton. 

(E) It is impossible to determine which coun​try will import and export which good.

9. The following data show the quantities of soda and cheese that can be produced in the United States and France with one unit of resources.

	
	Soda
	Cheese

	USA
	20 Bottles
	60 Pounds

	France
	10 Bottles
	40 pounds


Which of the following are true statements?

I. France has an absolute advantage in pro​ducing soda.

II. The United States has a comparative advantage in producing soda.

III. The United States has an absolute advan​tage in producing cheese.

IV. The United States has a comparative advantage in producing cheese.

(A) I only

(B) II only

(C) II and III only

(D) II and IV only

(E) I, II, and III only

10. In the United States, an increase in which of the following will cause an increase in U.S. imports?

I. Per capita real income
III. Interest rates

II. Price level

IV. Tariffs

(A) I and II only

(B) I and III only

(C) I and IV only

(D) I, II, and III only

(E) II, III and IV only

11. Suppose that the price level in Country A in​creases relative to the price level in other coun​tries. In which of the following ways are Country Xs imports and exports most likely to change?

Country Xs Imports
Country Xs Exports


(A) Increase
No change


(B) Increase
Decrease


(C) No change
Decrease


(D) No change
Increase


(E) Decrease
Increase

12. In the short run, in which of the following ways is an expansionary monetary policy most likely to cause the interest rate and the value of the domestic currency to change?


Interest Rate
Value of Currency


(A) Increase
Increase


(B) Increase
Decrease


(C) No change
Decrease


(D) Decrease
Increase


(E) Decrease
Decrease

13. If interest rates in the United States are increas​ing faster than interest rates in other countries, which of the following is most likely to occur? 

(A) The demand for dollars will decrease, and the value 

of the dollar will increase.

(B) The demand for dollars will increase, and the value 

of the dollar will increase

(C) The supply of dollars will decrease, and the value of the dollar will increase.

(D) The supply of dollars will increase, and the value of the dollar will increase.

(E) The supply of dollars will increase, and the value of the dollar will decrease.
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